	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				1,683	cords	
Pulpwood (Total)				1,683		
Saw Timber						
Hardwood				842,701	board feet	
Saw Timber (Total)				842,701		
Total Pulpwood, Chip & Saw,						\$469,252
Saw Timber FOB Mill						
Total Forestry Stumpage						\$302,148
(Total)						
Forestry (Total)						\$469,252
FRUITS						
Citrus						
Navels	12	10.0	140.00	1,400	bu.	\$28,000
Satsumas	12	33.0	425.00	14,025	bu.	\$280,500
Other Citrus	*	2.0	175.00	350	bu.	\$7,000
Citrus (Total)		45.0				\$315,500
Fruits (Total)		45.0				\$315,500
HAY FOR SALE						
Grass (Total)	7	2,000.0	1.50	3,000	tons	\$277,200
Hay for Sale (Total)		2,000.0				\$277,200
Home Gardens (Total)	14,000					\$2,800,000
PECANS						
Improved (Total)	*	2.0	150.00	300	lbs.	\$390
Native (Total)	10	2.0	75.00	150	lbs.	\$143
Pecans (Total)		4.0				\$533
SUGARCANE						
Raw Sugar (Total)	17	8,885.0	6,765.00	60,107,025	lbs.	\$7,212,843
Molasses (Total)		8,885.0	203.00	1,803,655	gal.	\$360,731
Sugarcane (Total)		8,885.0				\$7,573,574
TERREBONNE PARISH						

TERREBONNE PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Beets (Total)	*	1.0	210.00	210	doz. bunches	\$1,470
Broccoli (Fresh) (Total)	*	2.0	280.00	560	cartons (20 lbs.)	\$11,200
Cabbage						
Fresh	*	6.0	525.00	3,150	sacks (50 lbs.)	\$28,350
Cabbage (Total)		6.0				\$28,350
Collards						
Fresh	*	1.0	320.00	320	doz. bunches	\$2,240
Collards (Total)		1.0				\$2,240
Cucumber						
Fresh	10	4.0	235.00	940	bu. (50 lbs.)	\$16,920
Cucumber (Total)		4.0				\$16,920
Eggplant (Total)	10	1.0	425.00	425	bu. (33 lbs.)	\$8,500
Garlic (Total)	*	1.0	850.00	850	lbs.	\$4,250
Irish Potatoes						
Fresh	7	8.0	175.00	1,400	cwt.	\$49,000
Irish Potatoes (Total)		8.0				\$49,000
Mustard (Fresh) (Total)	8	7.0	500.00	3,500	doz. bunches	\$24,500
Okra (Fresh) (Total)	8	7.0	210.00	1,470	bu.	\$44,100
Onions (Total)	*	1.0	85.00	85	bag (50 lbs.)	\$2,550
Green Onions (Total)	*	1.0	625.00	625	lbs.	\$1,875
Peppers						
Bell	*	1.0	720.00	720	bu. (28 lb.)	\$14,400
Peppers (Total)		1.0				\$14,400
Pumpkin (Fresh) (Total)	*	2.0	70.00	140	cwt.	\$3,500
Spinach (Fresh) (Total)	*	2.0	65.00	130	bu. (25 lbs.)	\$3,250
Squash (Fresh)						
Yellow Squash	*	1.0	105.00	105	bu. (45 lbs.)	\$2,363
Zucchini Squash	*	2.0	115.00	230	bu. (45 lbs.)	\$5,175

VEGETABLES						
Squash (Fresh) (Total)		3.0				\$7,538
Sweet Corn (Fresh) (Total)	*	5.0	550.00	2,750	doz. ears	\$9,625
Tomatoes (Field) (Total)	9	4.0	1,500.00	6,000	lugs (20 lbs.)	\$120,000
Turnips (Fresh) (Total)	10	6.0	500.00	3,000	doz. bunches	\$21,000
Vegetables (Total)		63.0				\$374,268
TOTAL ALL PLANT ENTERPRISES						\$11,810,326

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION								
Fisheries	Number of	Units of		Total	Units of	Gross Farm		
	Producers	Production		Production	Measure	Value		
AQUACULTURE								
Crawfish (Farm) (Total)	18	542	Acres in Prod.	387,530	lbs.	\$465,036		
Minnows (Total)	*	12	Acres in Prod.	16,000	lbs.	\$54,400		
Fish bait (Total)	38			60,121	lbs	\$420,847		
Alligators (Farm) (Total)				80,207	ft.	\$2,245,807		
Oysters (Total)	312			2,945,480	sacks	\$6,647,654		
Soft-shell Crabs (Total)	8			1,531	doz	\$33,682		
Aquaculture (Total)						\$9,867,426		
FRESHWATER FISHERIES								
Crawfish (Wild) (Total)	17			27,677	lbs.	\$16,819		
Freshwater Finfish (Total)	154			27,320	lbs.	\$77,512		
Freshwater Fisheries (Total)						\$94,332		
MARINE FISHERIES								
Shrimp (Total)	1,196			28,502,460	lbs.	\$34,413,870		
Crabs (Total)	506			7,628,334	lbs.	\$5,365,770		
Commercial Finfish (Total)	38			2,645,859	lbs.	\$7,634,626		
Marine Fisheries (Total)						\$47,414,266		
Fur Animals (Total)				11,210	pelts	\$221,958		
Alligators (Wild) (Total)				50,925	ft.	\$1,273,125		
HUNTING LEASES								
Waterfowl (Total)	77	192,300	No. Acres		acre	\$2,884,500		
, ,		ŕ	Leased					
All Other Game (Total)	13	28,775	No. Acres		acre	\$201,425		
` ,		,	Leased			ŕ		
TERREBONNE PARISH								

IES & WILDLIFE ENTERPRISES PRODUCTION
R

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Hunting Leases (Total)					\$3,085,925
Honey (Total)	*	17 No. Hives	715	lbs.	\$644
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES				\$61,957,676

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			200	head	\$99,421
400-500 lbs.			300	head	\$167,333
500-600 lbs.			310	head	\$189,784
600-700 lbs.			25	head	\$17,184
Steer Calves (Total)					\$473,721
Heifer Calves					
300-400 lbs.			250	head	\$110,364
400-500 lbs.			300	head	\$156,533
500-600 lbs.			100	head	\$57,811
600-700 lbs.			80	head	\$53,290
Heifer Calves (Total)					\$377,996
Yearling Cattle					
600-700 lbs.			100	head	\$64,968
700-800 lbs.			30	head	\$21,364
Yearling Cattle (Total)					\$86,331
Cow-Calf Pairs (Total)			40	pair	\$38,008
Cull Cows (Total)			200	head	\$75,650
Cull Bulls (Total)			30	head	\$25,367
Cattle & Calves (Total)	32	2,700 No. Cows			\$1,077,074

DAIRY					
Dairy Goats (Total)	*	10 Total Adult		Pounds	
Daimy (Total)		Does			
Dairy (Total) HORSES					
Brood Mares					
Show Horses	20	24 No. Brood Mar	os 4	head	\$16,000
Recreation Horses	12	16 No. Brood Mar		head	
Brood Mares (Total)	12	16 No. Brood Mar	es o	nead	\$12,000 \$28,000
Stud Fees					\$28,000
Race Horses		2 No. Stallions	6	mares bred	¢15 000
Show Horses		2 No. Stallions		mares bred	\$15,000
Recreation Horses		2 No. Stallions		mares bred	\$13,500
		2 No. Staffons	8	mares ored	\$4,000
Stud Fees (Total)	*		20	head	\$32,500 \$360,000
Race Horses (Total)				head	
Show Horses (Total)	10				\$300,000
Recreation Horses (Total)	42		180	head	\$270,000
Horses (Total)					\$990,500
POULTRY	*	00 N H	160	1	¢114
Edible Eggs (Total)	*	80 No. Hens 20 No. Birds		doz. eggs sold	\$114
Breeder Flocks (Total)	"	20 No. Birds	0	doz. hatching	\$11
D 14 (T 4 1)				eggs sold	¢125
Poultry (Total) RABBITS					\$125
	*	100 No. Animals	400	11	\$204
Fryers (Total)	*		480		\$384
Does (Total)	*	45 No. Animals	250	ibs.	\$38 \$422
Rabbits (Total)					\$422
SHEEP		30 No. Sheared	105	4	0.47
Wool (Total)		30 No. Sneared		cwt.	\$46
Slaughter Lambs (Total)				head	\$938
Show Lambs (Total)				head	\$3,600
Stocker Sheep (Total)				head	\$600
Cull Sheep (Total)			6	head	\$300

TERREBONNE PARISH

TERREBONNE PARISH

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Sheep (Total)	*	20 No.Breeding			\$5,484
Sheep (Total)		Ewes			ψ3,101
GOATS		Ewes			
Show Goats (Total)			10	head	\$2,500
Slaughter Goats (Total)			1		\$125
Stocker Goats (Total)			_	head	\$285
Cull Goats (Total)				head	\$130
Goats (Total)	*	8 No. Does	_	ileda	\$3,040
SWINE		0 110. B005			ψ3,010
Show Pigs (Total)			S	head	\$2,240
Feeder Pigs (Total)				head	\$300
Slaughter Hogs (Total)				head	\$962
Culls (Total)				head	\$1,600
Swine (Total)	*	4 No. Sows	10	licau	\$5,102
EXOTIC ANIMALS		4 No. 30ws			\$3,102
	*	15 NI A1-		11	9750
Deer/Antelope (Total)	r	15 No. Animals	3	head	\$650
Exotic Animals (Total)	EDDDIGEG				\$650
TOTAL ALL ANIMAL ENTI	EKPKISES				\$2,082,396

TERREBONNE PARISH \$75,850,398